	Задание № 14
	               I
	               II
	              III

	1)20 м  ткани стоит 40 р.Сколько стоит 1м ,
	           0,5 р
	              2 р 
	             20 р 

	2)      5 м ?
	              5 р
	            2,5 р 
	             10 р 

	3)6   – 4200 кг
  1 - ?
- ?
	          700 кг

          300 кг
	 кг

             350 кг
	             60 кг

             1400 кг

	4. 3 кг – 90 р 
      1 кг -  ?
	          30 р
	             2700р
	             90 р

	5)   33 кг - ? 
	          990 р
	             330р
	            3,3 р



